Lecture 14 

1.
Signaling is often assumed to pose a cost (i.e. decrease fitness) to the sender.  Give two ways in which signals can be costly.  Provide an example to illustrate each case.

2.
What is meant by the term "phylogenetic constraint"?  Which sensory modality is most likely to constrain signal production?  Why?

3.
Which sensory modality is most likely to constrain signal reception?  Why?

4.
Several investigators have found a correlation across species between some aspect of brain size and some feature associated with communication, e.g. repertoire size or memory.  Such correlations are necessary, but not sufficient, to demonstrate an evolutionary constraint.  What additional information would be needed to conclude that brain size constrains signal production or reception within a species?

5.
Which sensory modality is most sensitive to, and therefore likely to be most constrained by, the environment in which transmission occurs?  Explain your answer.

